Canada Bldg 17
4220 Farm Hill Blvd

Redwood City, CA 94061

Architect: Noll & Tam

Engineer: McCracken and Woodman

Contractor: BDP Builders

2TCG0090

Drawing Index:

Page 1 of 10
Page 2 of 10
Page 3 of 10
Page 4 of 10
Page 5 of 10
Page 6 of 10
Page 7 of 10
Page 8 of 10
Page 9 of 10
Page 10 of 10

BILL OF MATERIALS
SEQUENCE OF OPERATION
CANADA BLDG-17 RISER
FAN COIL UNITS CONTROL
FAN COIL UNITS PANELS
MISC SYSTEM CONTROL
HW & CHW MONITORING
HW & CHW PANEL

UTILITY VISION LAYOUT
UTILITY VISION PANEL

N/AN

WAS

Building ingenuity for better business

OSacramento, CA M San Francisco, CA

11919 Foundation Place,
Suite 280

Gold River, CA 95670
916-357-6000

OReno, NV

1380 Greg Street
Suite 224

Sparks, NV 89431
775-359-9825

O Anaheim, CA
4165 E. La Palma Ave.
Anaheim, CA 92807
714-854-7160

I/A Series®

VYKON

One South Linden Avenue
Suite 1

So. San Francisco, CA 94080
650-616-7400

0 Salt Lake City, UT

2820 S. Redwood Rd.
West Valley City, UT 84119
801-886-0800

www.yamas.com

Representing:

(lnvensys

Technologies:

OLas Vegas, NV

6283 South Valley View Blvd.
Suite M

Las Vegas, NV 89118
702-896-8300

O Boise, ID

2230 S. Cole Road
Suite 130

Boise, ID 83709
208-323-8088

O La Verkin, UT
38 N. 380 W.
La Verkin, UT 84745
(435) 635-0205

< ECHELON
@BACnet
NETWORK 8000

Yamas Engineer: Doug D’Ambrogia
Yamas Northern California

DATE 1 South Linden Ave, Suite 1

REVISIONS
REV# DESCRIPTION
1 RECORD DRAWINGS 1/15/2007

South San Francisco, CA 94080
Tel.: (650) 616-7400

Fax: (650) 616-7408
email: ddambrogia@yamas.com




( - 5 )
BILL OF MATERIAL LISTING NER:
£ 882
Installing Trade Iltem # Qty Part Number Description Vendor Manufacturer _ %;%‘
Electrical s £
Electrical 1 36 A-500-1-B-2 4" IMMERSION WELL MAMAC SYSTEMS MAMAC SYSTEMS mfs
Electrical 2 2 AA17 BYPASS VLV ASSMBLY,SM BRACKET VERIS VERIS x 5;3
Electrical 3 2 E112-735 CURRENT SW/ & RELAY; 1-135A; N SINGLE SOURCED SOLUTIONS |VERIS E};
Electrical 4 2 F-1200 DUAL TURBINE INSERT FLOW METER ONICON ONICON \ A,
Electrical 5 8 MN-S3 IA MICRONET S-LINK SENSOR W/QV INVENSYS BLDG SYSTEMS INVENSYS- AUTOMATION ( \
Electrical 6 8 P-PAM-1 APC ENCAPSULATED RELAY SPDT 10 SINGLE SOURCED SOLUTIONS |AIR PRODUCTS & CONTROLS
Electrical 7 2 SYSTEM-10-LON BTU METER WITH LON INTERFACE ONICON ONICON B
Electrical 8 1 TE-205-F-7Z OUTSIDE AIR TEMP SENSOR MAMAC MAMAC §§
Electrical 9 8 TE-702-B-7Z-D 12" DUCT MOUNTED THERM. SENSOR MAMAC MAMAC
Electrical 10 32 TE-703-D-3-A-2 IMMERSION TS, 1 K pRTD 2-W, 4" MAMAC SYSTEMS MAMAC SYSTEMS
Electrical 11 4 TE-703-D-3-A-2 IMMERSION TS, 1 K pRTD 2-W, 4" MAMAC SYSTEMS MAMAC SYSTEMS 2
Electrical 12 1 TSMN-90220-850 10K THRMSTR 11K SHNT&PRGM JACK INVENSYS BLDG SYSTEMS INVENSYS- COMPONENTS 2
Electrical 13 2 VER-PWXX05S PRESSURE XDUCER,25/50/125/250P SINGLE SOURCED SOLUTIONS VERIS E
Mechanical E
Mechanical 14 4 VS-2213-505-9-05 1/2" WIMS40-6043, 24V CV=4.7 INVENSYS BLDG SYSTEMS INVENSYS- COMPONENTS ,mg
Mechanical 15 12 VS-2313-505-9-05 1/2" WIMS40-6043, 24V CV=4.3 INVENSYS BLDG SYSTEMS INVENSYS- COMPONENTS gg
Gl
Panel K
Panel 16 1 A-20N16ALP 20"x16"x 6" NEMA1 ENCLOSURE HOFFMAN HOFFMAN
Panel 17 1 A-20N16MP 20"x16" BACKPLATE HOFFMAN HOFFMAN
Panel 18 2 A-36N30ALP 36"x30"x6" NEMA 1ENCLOSURE HOFFMAN HOFFMAN
Panel 19 2 A-36N30MP 36"H x 30"W BACKPLATE HOFFMAN HOFFMAN £ ©
Panel 20 1 ECH-73351 SLTA-10 TO FT-10 SERIAL LONTAL SINGLE SOURCED SOLUTIONS ECHELON g 2
Panel 21 1 ECH-73380 SLTA-10 TO NULL MODEM CABLE. SINGLE SOURCED SOLUTIONS ECHELON s g
Panel 22 8 ENCL-MZ800-PAN ENCLOSURE FOR MZ 2 & MNL-800-P INVENSYS BLDG SYSTEMS INVENSYS- COMPONENTS % S
Panel 23 1 G-100 CONTROL SERVER ENFLEX ENFLEX § o c;_ 5 ©
Panel 24 2 MNL-20RS3 MN 200 CONT. WITH LONMARK ROOF INVENSYS BLDG SYSTEMS INVENSYS- AUTOMATION £ g3 g g g
Panel 25 8 MNL-800-101 MNL800 LONMARK CONTROLLER-CIRC INVENSYS BLDG SYSTEMS INVENSYS- COMPONENTS ; é 2
Panel 26 1 PSM24A24DAS 24VAC/24vDC POWER SUPPLY,300MA FUNCTIONAL DEVICES FUNCTIONAL DEVICES = cg Q SDf
Panel 27 1 T-201-1 TRANSFORMER 50 VA, 120V-P, 24V SINGLE SOURCED SOLUTIONS CORE Z=2m0
Panel 28 4 T-208 TRANSFORMER 96 VA 120P-24VS U SINGLE SOURCED SOLUTIONS CORE . 3%3;3;
588823
220508«
E25ge8
AUTOMATIC TEMPERATURE CONTROL VALVE SCHEDULE (Cafiada Bldg 17) LWOono
PART # SPRING POS. VLV. VLV. PIPE VLV. CONN. FLOW VALVE CV ACT. PRESS.| CLOSE OFF (PSI)
ITEM SYSTEM TAG QTY SERVICE VALVE ASSEMBLY ACTUATOR RANGE POSIT. TYPE SIZE SIZE ACTION TYPE GPM #HR CALC. ACT. DROP (PSI) | STEMUP | STEM DN.
1 FC-1 CHW FC-1 CHW 1 CHW VS-2213-505-9-05 MS41-6043 PROPORTIONAL N 2 Way Straight 1/2" 3/4" No Fail Safe Position Screwed 8.34 3.73 4.7 3.15 130 130 6 2
2 FC-1 HW FC-1 HW 1 HW VS-2313-505-9-05 MS41-6043 PROPORTIONAL N 3 Way Mixing 1/2" 3/4" No Fail Safe Position Screwed 5.54 2.48 4.3 1.66 50 50 f~ -g 8 q:
3 FC-2 CHW FC-2 CHW 1 CHW VS-2313-505-9-05 MS41-6043 PROPORTIONAL N 3 Way Mixing 1/2" 3/4" No Fail Safe Position Screwed 8.34 3.73 4.3 3.76 50 50 -~ m 2 E
4 FC-2 HW FC-2 HW 1 HW VS-2313-505-9-05 MS41-6043 PROPORTIONAL N 3 Way Mixing 1/2" 3/4" No Fail Safe Position Screwed 5.54 2.48 4.3 1.66 50 50 -g’ % ) L
5 FC-3 CHW FC-3 CHW 1 CHW VS-2213-505-9-05 MS41-6043 PROPORTIONAL N 2 Way Straight 1/2" 3/4" No Fail Safe Position Screwed 8.34 3.73 4.7 3.15 130 130 IJ_:I E oy [q_:
6 FC-3 HW FC-3 HW 1 HW VS-2313-505-9-05 MS41-6043 PROPORTIONAL N 3 Way Mixing 1/2" 3/4" No Fail Safe Position Screwed 5.54 2.48 4.3 1.66 50 50 _g a 5 E
7 FC-4 CHW FC-4 CHW 1 CHW VS-2213-505-9-05 MS41-6043 PROPORTIONAL N 2 Way Straight 1/2" 3/4" No Fail Safe Position Screwed 8.34 3.73 4.7 3.15 130 130 .g L - L
8 FC-4 HW FC-4 HW 1 HW VS-2313-505-9-05 MS41-6043 PROPORTIONAL N 3 Way Mixing 1/2" 3/4" No Fail Safe Position Screwed 5.54 2.48 4.3 1.66 50 50 ) 8 8 O
9 FC-5 CHW FC-5 CHW 1 CHW VS-2313-505-9-05 MS41-6043 PROPORTIONAL N 3 Way Mixing 1/2" 3/4" No Fail Safe Position Screwed 8.34 3.73 4.3 3.76 50 50 © g -g j
10 FC-5 HW FC-5 HW 1 HW VS-2313-505-9-05 MS41-6043 PROPORTIONAL N 3 Way Mixing 1/2" 3/4" No Fail Safe Position Screwed 5.54 2.48 4.3 1.66 50 50 & E
11 FC-6 CHW FC-6 CHW 1 CHW VS-2313-505-9-05 MS41-6043 PROPORTIONAL N 3 Way Mixing 1/2" 3/4" No Fail Safe Position Screwed 8.34 3.73 4.3 3.76 50 50
12 FC-6 HW FC-6 HW 1 HW VS-2313-505-9-05 MS41-6043 PROPORTIONAL N 3 Way Mixing 1/2" 3/4" No Fail Safe Position Screwed 5.54 2.48 4.3 1.66 50 50
13 FC-7 CHW FC-7 CHW 1 CHW VS-2213-505-9-05 MS41-6043 PROPORTIONAL N 2 Way Straight 1/2" 3/4" No Fail Safe Position Screwed 8.34 3.73 4.7 3.15 130 130 v -
14 FC-7 HW FC-7 HW 1 HW VS-2313-505-9-05 MS41-6043 PROPORTIONAL N 3 Way Mixing 1/2" 3/4" No Fail Safe Position Screwed 5.54 2.48 4.3 1.66 50 50 % [s] w ":j O o
15 FC-8 CHW FC-8 CHW 1 CHW VS-2313-505-9-05 MS41-6043 PROPORTIONAL N 3 Way Mixing 1/2" 3/4" No Fail Safe Position Screwed 8.34 3.73 4.3 3.76 50 50 = 8 E _‘:5 <~
16 FC-8 HW FC-8 HW 1 HW VS-2313-505-9-05 MS41-6043 PROPORTIONAL N 3 Way Mixing 1/2" 3/4" No Fail Safe Position Screwed 5.54 2.48 4.3 1.66 50 50 g (DD =z % E 6
ol =
ok|23 |-
O rz|m
- J




FAN COIL UNITS (FC-1 TO FC-8) SEQUENCE OF OPERATION:

Local Room Setpoint Adjustment Operation: The MN-S3 Room Sensor has a pushbutton & up / down
arrows for setpoint adjustment locally at the room sensor. The local setpoint adjustment takes effect for 2

hours once the pushbutton is pushed to override the default setpoint from the front end computer. A red
LED below the pushbutton will light up after the pushbutton has been pushed to indicate that the local
setpoint override is active. By pushing the up or down arrow, the setpoint value will temporarily be

displayed on the LCD display of the sensor and will adjust to a higher value when the up arrow is pushed

& to a lower value when the down arrow is pushed. The LCD display will go blank once the setpoint

adjustment is complete. The adjustment range of the setpoint value will be limited between 68 degrees &
74 degrees. The local setpoint will revert back to the original default setpoint from the front end computer
after the 2 hour override period is complete. The pushbutton will also provide unoccupied period override,

so that the unit will turn on during unoccupied hours and run until the same 2 hour override period is
complete.

Setpoint Programming: In software, a setpoint control block will generate a set of cooling and heating

setpoints based upon a single setpoint. The deadband value of the setpoint control block will determine

the setpoint outputs. The difference from the single setpoint will be % the deadband value. For example,
when the temp setpoint is set to a setpoint of 72.0 deg F at the room sensor and the control block has a
deadband setting of 3 deg F, the setpoint control block will output 73.5 deg F as the cooling setpoint and
70.5 deg F as the heating setpoint. The heating and cooling setpoints will be displayed on the front end

computer and the initial deadband setting will be 3 deg F. (adjustable). The initial default single setpoint

shall be 71.5 and the cooling setpoint shall be 73 deg F and the heating setpoint shall be 70 deg F.

Occupied Period Operation: The fan coil unit shall operate on a schedule to be finalized with the college.

The initial expected operating schedule is 7:30 am to 11:00 pm or as directed by the district. The
operating schedule may vary for each piece of equipment so independent schedules are required.

Shutdown Mode: When the fan coil unit is shutdown or scheduled off, the fan is stopped, the heating &

cooling valves are closed and the motorized damper shall close fully and provide 100% shut-off to return

air.

Coil Freeze Protection: When the outdoor temperature is 36 deg. F or below, the heating coil is to be

energized to prevent coil freezing. The Freezestat provided with the unit will shutdown the unit and close

the motorized damper.
Alarm Reporting: Alarms shall be reported at the front end computer when the following occurs:
1) System is in heating or cooling, fan not operating.

2) System is calling for heating and the cooling control valve is operating.
3) System is calling for cooling and the heating control valve is operating.

EXHAUST FAN (EF-1 & EF-2) DDC CONTROL SEQUENCE
SEQUENCE OF OPERATION - OCCUPIED PERIOD:

1. Fan energized.

SEQUENCE OF OPERATION - UNOCCUPIED PERIOD:

1. Fan de-energized.

THE ENERGY MANAGEMENT SYSTEM IS TO MONITOR THE FOLLOWING:

1. Fan operation (status).

THE ENERGY MANAGEMENT SYSTEM IS TO PROVIDE ALARM REPORTING WHEN THE FOLLOWING OCCURS:

1. Occupied period - fan off-line.
2. Unoccupied period — fan energized.

HVAC SYSTEM SHUTDOWN FROM FIRE ALARM - CONTROL SEQUENCE
GENERAL:

1. The DDC system (FC-2 DDC controller located in the Mechanical room 112) is to monitor the fire alarm
control panel (located in I.T.S. room 104) general alarm output at all times. If the fire alarm control panel
receives a general fire alarm signal, the DDC system is to disable all HYAC equipment and systems. When

the fire alarm system is reset to its normal monitoring mode, the HVAC systems are to be placed back in
their normal occupied/unoccupied sequence of operation.

SPLIT SYSTEM (CC-1 & CU-1) ROOM TEMPERATURE MONITORING SEQUENCE
INDOOR UNIT CC-1 ROOM TEMPERATURE
THE ENERGY MANAGEMENT SYSTEM IS TO MONITOR THE FOLLOWING:

1. Room Temperature.

THE ENERGY MANAGEMENT SYSTEM IS TO PROVIDE ALARM REPORTING WHEN THE FOLLOWING OCCURS:

1. Room temperature is 3° F above setpoint. Initial setpoint to be 80° F.

MAIN BUILDING CHW & HW PIPING SYSTEM CONTROL SEQUENCE
THE ENERGY MANAGEMENT SYSTEM IS TO MONITOR THE FOLLOWING:

1. Chilled water supply temperature to building.

2. Chilled water return temperature from building.

3. Heating hot water supply temperature to building.

4. Heating hot water return temperature from building.

5. Differential pressure between supply and return chilled water piping.

6. Differential pressure between supply and return heating hot water piping.

THE ENERGY MANAGEMENT SYSTEM IS TO PROVIDE ALARM REPORTING WHEN THE FOLLOWING OCCURS:

1. One or more fan coil unit heating coils are calling for heating and no flow (monitored via differential pressure) is
present in main heating hot water piping.

2. One or more fan coil unit cooling coils are calling for cooling and no flow (monitored via differential pressure) is
present in main chilled water piping.

Brailding ingevafy for better brasfness

J{

01/15/07

Datg:

Revisions

\JRecord Drawing

# [Change:

J

McCracken and Woodman

Noll & Tam
BDP Builders

Coniractor:

Architect:
Engineer:

Canada Bldg 17

4220 Farm Hill Blvd
Redwood City, CA 94061

2TCGO090
FILE NAME
Cariada Bldg 17 SOP.vsd

(JOB NUMBER

Designed by: DD'A  Date: (9/26/2006

Software by:

J

7 These drawings and designs are the
company is stiiclly prohibiled.

copyrighled property of Yamas. Their use or
reproduchon withoul prior consent of the

Date:
Date:

Checked by:

SEQUENCE OF
QOPERATION

SHEET NO.
2 OF 10

\



oLd0e )
2ieq Aqpexoeud | Y351y £1-9a18 VAVNYD | oy 1330S
\ n fued uﬂ___u__ﬂwﬁ_u._mmccu soud oy o >ﬁ_ g
BT it : ) . ; snssy 2| Bp|g Epeues
SRR S, : 9002/9Z/60 '2leQ v,aQ Ag paubiseq L90¥8 WO 'AID poompoy e am_§<z 34
Z,
SNt A3t dof Kpniesbi Bupiptg 10/51140 mc_smh,w%mnwmw w slap|ing 4d4 Loﬁom._umoo pAIg I'H wieq 02y 08009012
= , UELLPOOAA PUB LUSXIEBINDN lasuibug borg epeuEn  JooooLz
J Sosined wel g |[oN Josiiylly 21 bpig epeu )
; )
-
Y]
oz
Bl H
z| 2
=
o o
[l & I8
I -] %
(@] 4 =1
| 2
’ - [l
o Suw
E ie
[T /// m ADuu
’ i ls %
=
L AE
o
—
=
[
w
. , g
[Te} 3 _
24l E e
S =
= A
e o .
2 27
- |
E EL
w // //
. o ] :
< =] % 3
: . " w g Y
= I % o _r-l o9
o _r-... nH.v & o P R W
i La = =g
£ L 5 LN W o]
s 58 N = w
. g / o g
/ = o o
& 5 *
~ & m w 8
g = 2
S p =
__,:w = G
) o
2y iy
- |
T E L
w // //
. o i :
i S 5 3
O 0 2
BUE F
Ak
o
z 2
Bl
z|l 2
9L s
o
—
E
—
ﬁ s |H
2 W E
2 S F
m m m_H__H
: ~ g |y
0) o &
ADn ~ z .m S m o
~ < A - o} h
- ~ANn m 0 m,M % 5, O
P m X m = z =21
an (@] ) _fl.. W a mms
2
) sz
ST i
C o
z —
> wug
a4
3 8
9 S
. I
2 o,
(V]
J




FAN COIL UNITS ( ;3 )
Device Qty Part Number Description Vendor E g,cc‘:
FC-1,2,3,4,5,6,7 &8 - .l
Electrical £ gge
FAN COIL UNITS RELAY 8 P-PAM-1 APC ENCAPSULATED RELAY SPDT 10 SINGLE SOURCED SOLUTIONS L £8%
. T 8 MN-S3 IA MICRONET S-LINK SENSOR W/OV INVENSYS BLDG SYSTEMS T gsE
(Typ|ca| Of 8) TS1 8 TE-702-B-7Z-D 12" DUCT MOUNTED THERM. SENSOR ~ MAMAC T 238
FACTORY WTS1-4 32 TE-703-D-3-A-2 IMMERSION TS, 1 K pRTD 2-W, 4" MAMAC SYSTEMS & 2gf
SUPPLIED WTS1_1 8 A-500-1-B-2 4" IMMERSION WELL MAMAC SYSTEMS = $Es
WTS2_1 8 A-500-1-B-2 4" IMMERSION WELL MAMAC SYSTEMS 3 Eaie
STATUS SWITCH WTS3_1 8 A-500-1-B-2 4" IMMERSION WELL MAMAC SYSTEMS L oags
SIS WTS4_1 8 A-500-1-B-2 4" IMMERSION WELL MAMAC SYSTEMS St
FACTORY FC-X = £%E
Es
SUPPLIED FACTORY [ jai
SUPPLIED 1785-3 17B5-4 £8%
MIXING BOX W/ N.O =
MOTORIZED FREEZESTAT Low=—=5Fg ——1High -
HARDWIRE
DAMPER NCO ﬁ [~ SHUTDOWN.
- 0. SEE STARTER
— | _ FILTER NC.l14 DETAIL FC SUPPLY FAN
OUTSIDE AIR | > | H c SUPPLY )=
OPENING TO oa (| no. O ﬁ> AIR 2
BE CAPPED L K | c c (2000 CFM) =l
-] T N.C. TE-703-D-3-A-2 TE-703-D-3-A-2 SUPPLY CFM IN EXCESS
| ravavi Frar? Gt [T 1 oF2000REQURE
Economizer Motor RA FC-X FC-X FAN SMOKE DETECTOR RV
: . STR N2 | C SHUTDOWN.
Factory Supplied o 1 — 1 c [ e me | C HNAC\)/TEEz-FVS;(’%/‘,}AfVTE FCl-X NONE OF THE UNITS S_Licl'é_LK §
and Installed L See Valve Schedule See Valve Schedule FACTORY SaT EXCEED 2,000 CFM. H :g
2-position FXHW Nh IR Fexch SUPPLIED 11314 2
oPEN[1TB2-4 HWR < i i | » CHWR STARTER T
CLOSE[TTB25 AB A Ll ul A AB 2
B B E E
ﬁ TE-703-D-3-A-2 TE-703-D-3-A-2 O als
UNIT HwsT ChwsT = =i
CONTROL RETURN FC.X MN-S3 88
RELAY BOX AIR N5 | C 218
( \ TERMINAL ROOM SENSOR £
2avAc From [ WHT YLW BLOCK " 7
SUPPLY FAN L BLK: £BLUE TTB5-1
STARTER T
L RE ORG . J \
cireurr.  [GH REoT outeur HWS < CHWS
P-PAM-1
FCX HW FCX CHW =
24H EEE HOT(1) Al(8) PEII 24H EEE HOT(1) AI@) gﬁ: O [1e)
24G COM(2) AO 24G COM(2) AO(9) £ [s=]
3.3 VA 3.3VA b3 8
MS41-6043 500 MS41-6043 _ 500 O S
P W @
c [ Ao2 c _Jao1 % %
FC-X FC-X =
1 B
HigViv CaVlv From: _\ = To c g $ Lo
00T @ o o
- 42 =
\& — FC X e = % Eg O O O
{0
TS e — | LON Cl STARTER:SSS of =Y
| 460 VAC SHLD NOT S
| TIE- NC2 o oD
' e | FC CONTROLLERS ARE s cZ 2=a@0
~1
: | T S-LK NO2 SEE:SCHEDULE Sl
-
! e _] | TYPICAL EXCEPT FOR 21V e s 223
CCSR:SfS e 2 0o
[ ! POINTS WIRED SLK O3 88858
I ' TS1:5aT IN2 NC4 T E L o= S
| [ TO IN7 & NO3 C ca oS wEQ
I ) IN3 NO4 e o0 0oL
| - = = WTS1:ChwsT C NCS WO ODO
| : WTS2:ChwrT ”\(l:4 NCOSS -
| | IN7 & NO2 SCHEDULE |3
. | X
[ e S ! FC-1IN7: CC-1 Room Temp el o T Q|E
| arter e . WTS3:HwsT ~ = =
| Purle ! FC-2 IN7: Fire Alarm Signal = NeT - @28
WTS4:HWIT o =
| nero, | FC-5 IN7: EF-1 Status < o £E99
] SEE:SCHEDULE £ 2| E
| pe 5SS | FC-5 NO2: EF-1 S/S < e 2 50|2
| . 0 L -
! | FC-6 IN7: EF-2 Status < B
| . CHW:CgVIv o Q
: | FC-6 NO2: EF-2 S/S HW:HtgViv A2 500 © -
500 il
. 20 VA prd
| 1TB4-4 FREEZESTAT : FC'7 IN7 O.A. Temp 28[31 N 221 CE E
: S o ! SEE MISC SYSTEM SHEET S"(':LD éz’l\‘%
| COIL UNIT | Neuron id: Nong| e x
1TB4-3 M - b~ :
| OND‘IF'QI-AH\QVE/SGE I FOR WIRING DETAILS U lwzlo
m o o
| CI_| NO1 : = § E £ E =
| FC-X SUPPLY FAN 3 =z 2 U
| SES I CONTROLLER WIRING = 8 w3 ﬂ o
——————————————————————————— - ol
SUPPLY FAN STARTER DETAIL QJ o
\_ J




TCP-MECH T R ~N
Device Qty Part Number Description Vendor = E,éfg
Panel gé%
FC-X 8 MNL-800-101 MNL80O LONMARK CONTROLLER-CIRC ~ INVENSYS BLDG SYSTEMS £ 28g
FC-X_1 8 ENCL-MZ800-PAN ENCLOSURE FOR MZ 2 & MNL-800-P INVENSYS BLDG SYSTEMS T 2sf
TCP-MECH1-2 2 A-36N30ALP 36"x30"x6" NEMA 1ENCLOSURE HOFFMAN T 238,
TCP-MECHL_1 1 A-36N30MP 36"H x 30"W BACKPLATE HOFFMAN = 2588
TCP-MECH2_1 1 A-36N30MP 36"H x 30"W BACKPLATE HOFFMAN z BF%E
TX-1-2 4 T-208 TRANSFORMER 96 VA 120P-24VS U SINGLE SOURCED SOLUTIONS = Euzs
w &s2
5 ggs
= %
)
NEMA-1: 36"H x 30"W X 6"D NEMA-1: 36"H x 30"W X 6"D -
P
o] P
' p (=]
24vac to FC Valves (TX-2) 24vac to MNL-800's (TX-1) 5o O>— 24vac to FC Valves (TX-2) 24vac to MNL-800's (TX-1) 2 >—
[HL 2N o }IZOVAC [HL] o N o Q }120VAC
(G1) 5 G % <>— POWER (G1) 5 G & © POWER
o 2 o 2
N[G I LIN[G 2
- - J | J | k=]
1| & || % | z ) | — | z ) | — 2
W oy W oy E - 2 [ - 2
Qsz mTTXl |g I TX-2 |§ I &
ke = @ e
" " | | =
| — |
| | | 8 ! g5
| | | E | g-g
| | | | ol
[ _ | 1 FREARN
FC-1 FC-2 FC-5 FC-6
&
£ 3
g &
M M M M g @
N N N N =
.
L L L L S FTE
® © ©
8 8 8 8 F¥T 000
© 0
0 C 0 C 0 C 0 C ®8a g
0 INVENSYS 0 INVEMNSYS 0 IMVENSYS 0 INVENSYS 3 Sm0
S BE
288807
dogcal
EL & .Q’E %}
@
FC-3 FC-4 FC-7 FC-8 25852
< WO OWwo
w
S| @
©0
M M M M 3 8|2
M~ =
N N N N g N
t T O w
L L L L s 2|k
= Z
8 8 8 8 g 55|53
0
0 0 0 0 5 9 2|5
0 Cn-'-'!emy's 0 ﬁn-uemys 0 (n-'-emys 0 (ln-uemys © & é O
x| Z
w
o
[im} w g y
AEHEE
TCP-MECH1 TCP-MECH?2 g § =z % m &
L
MOUNT TCP-MECH1 IN MOUNT TCP-MECH2 IN e |2C|Ewe
1°" FLOOR MECH ROOM 112 2"° FLOOR MECH ROOM 206 S L&|w
\ J




( . . 3 )
———————————————————————————————— EXHAUST FANS T'[ L Zs%
| 460 VAC | Device Qty Part Number Description Vendor II\_A. i £33
I I £ 8%
I L1 L2 L3 | Electrical r 28s
| | CCSR-1,2 2 E112-735 CURRENT SW/ & RELAY; 1-135A; N SINGLE SOURCED SOLUTIONS ez g
| Fuse — | §§g§
I S ' OA TEMP 8d5%
| | Device Qty Part Number Description Vendor g a é a
wf§
: : Electrical gg g
. - = = OATS 1 TE-205-F-3 OA TEMP SENSOR, 1000 OHM MAMAC g%s
l ! 243
' ' g82
| 120vac | SPLIT SYSTEM z  FEEs
| | Device Qty Part Number Description Vendor ;/
| Mag Starter | - ( \
Electrical
| : RTS 1 TSMN-90220-850 10K THRMSTR 11K SHNT&PRGM JACK  INVENSYS BLDG SYSTEMS
I —Cyl N
| | 18
| b i
| Sl=
[ [ 5 gl g g '
| @) > O] 9 9 |
| H |
| £ |
I CCSR-1,2 g | @
[ J‘L [ 5
I 2) @ | n
=
| WiRE EF-1 TO Fos [0 246 W7 ¢ ! &
| CONTROLLER FC5 FC5 M '
I Ef1SS EfLS | o
| [ 1 EXHAUST FANS EF-1,2 | E
| WIRE EF-2 TO FC-6 N°'3:C|_(§4G 'N7FC|_6C | ol
| CONTROLLER Ef2SS E2S | g%
| | | £
| | o)
________________________________ 4 K- K Ko K
EXHAUST FAN CONTROL WIRING
TYPICAL FOR EF-1 & EF-2
&
o)
OaT £ 8
o
FACTORY FACTORY FC-7 Q o
- - [o] [te]
suppLiep/ EF1 |\ suppLiep| EF2 | 0 [ e Z o
@
STARTER STARTER CU-1 g " bt
FAN FAN (OUTDOOR UNIT) [TB3 Bsiszw s5g] | LOCATED ON ROOF £c s I2Lo
o @ ©
STR STR MITSUBISHI PU18EK £ % % [ag el
Z v 77 ?5a g
O.A. TEMP R Raga
Q ZZ=Zm0
. 2
EXHAUST EXHAUST <————— S1-S2 LINE VOLTAGE POWER 5 g 0 a
AIR AIR ———- 52-53 LOW VOLTAGE CONTROL Do olF
WIRING BY OTHERS L O mE® .y
ROOF EXHAUST FANS: EF-1 & EF-2 £E5E2¢£3
Y0 0oL
L WO OOWmo
_
;VAE'TNSO(\?VFNHVAC SYSTEM RTS WIRE CC-1 SPACE - ©
TO DDC CONTROLLER TEMP TO FC-1 o x
CONTROLLER o S| k-
FROM TRI ON MCC BOARD. ~ = 3|z
bl Cﬂ
SPACE] N7 | o = < 8
COM — c_ |9 o T Q
WIRE FIRE SIGNAL HVAC SYSTEM - (7] c 2 =
conmo n SHUTDOWN SIGNAL 2 85 O [[-'_-'
FROM FIRE ALARM TSMN-90220-850 8 L gl
FIRE_ALM | IN7 ( ) CONTROL PANEL cc-1 5 Q 8>
FC-2 c VIA TRI MODULE ON LOCATED ON 15" FLOOR O 8§ 5|9
MCC BOARD (INDOOR UNIT) IN1.T.S. ROOM 104 < Bl O
MITSUBISHI PK18EK x| 9
=
HVAC SYSTEM SHUTDOWN ) Golwilg
SPLIT SYSTEM COOLING: CC-1 & CU-1 eg|=2|ze
FROM FIRE ALARM = 1ES A e
260|ZL e i 8
Z0|wWa|w
o226 |T®
@] [T g W
=
\_ J




Hot & Chilled Water

E
585
Device Qty Part Number Description Vendor L]
g3
Electrical 28t
DPT-1-2 2 VER-PWXX05S PRESSURE XDUCER,WET TO WET,250  SINGLE SOURCED SOLUTIONS eag
DPT-1_1 1 AAL7 BYPASS VLV ASSMBLY,SM BRACKET VERIS 285
DPT-2_1 1 AA17 BYPASS VLV ASSMBLY,SM BRACKET VERIS gxid
WTS-1-4 4 TE-703-D-3-A-2 IMMERSION TS, 1 K pRTD 2-W, 4" MAMAC SYSTEMS $ELE
WTS-1_1 1 A-500-1-B-2 THERMOWELL, STAINLESS STEEL 4" MAMAC SYSTEMS Zazs
WTS-2_1 1 A-500-1-B-2 THERMOWELL, STAINLESS STEEL 4" MAMAC SYSTEMS ugs
WTS-3_1 1 A-500-1-B-2 THERMOWELL, STAINLESS STEEL 4" MAMAC SYSTEMS T
WTS-4_1 1 A-500-1-B-2 THERMOWELL, STAINLESS STEEL 4" MAMAC SYSTEMS g5
253
8L
Faz
-
=1
ChwrT «l®
CHW &[=
CHWR SENSOR Uis_] com i
Utility Vision
Monitoring Equipment
0 m
CHWR p> » FROM 5
U CHW FLOW METER BLDG g
Utility Vision Lo ]
CHWS SENSOR Monitoring Equipment o
Utility Vision PIPING LOCATED IN DPT o
Monitoring Equipment 15T FLOOR STORAGE ROOM 108 2 <
i
HI ole
CHWS ge
CHWSq 4 TO S 3
4
i 2-1/2" PIPE BLDG n 7
DPT- P8 [« [EL=] N
CHW: GPM = (8 x 8.34) = 66.72 /
25 IP7 [=]eta]
| 50 JP6 [= =T
ui2_ [ com 125
CHW 250 IP3 (=== ]
ChwsT JP2 ==
SEE SHEET 9 FOR UTILITY VISION e E%g
LAYOUT & BILL OF MATERIALS PWR SIG [CoM § o
Lo [H o
= E)m| £ 8
UIL TCOM] Range: 125 psi 8 o
CHW Unidirectional ; g
ChwDIP | Output: 4-20mA &
2 &
@ o ..
cop QL
E DT © @ ©
= é g oOo0
o =
=0ooa £
o om DO
HWR SENSOR ZZ=Zm0O
Utility Vision .
Monitoring Equipment . _a‘ [
Bo5 0273
HWR OO G o P
HWR » » FROM ELE b .Q’E 3
o C W
U HW FLOW METER BLDG 2 E0 0oL
Utility Vision Lo LW O OWwo
HWS SENSOR Monitoring Equipment
ility Visi DPT
Uiy ision PIPING LOCATED IN 1 9
Monitoring Equipment ST - =
1> FLOOR STORAGE ROOM 108 i o 8 o
<
~ = O
@ MM HWS - m 3 =
HWS ¢ 4 TO o = =
| = =
U 2" PIPE BLDG % T Li 5
e [<]ee] E £ =
HW: GPM = (8 x 5.54) = 44.32 m =
| ex550 5 o1 [[EE B &3Oz
-
Ul2_| cOM 125 IP6 Leelal 8 o 89|
AW 250 P3 [Tl e o g O
SEE SHEET 9 FOR UTILITY VISION HwsT P2 [EE= =] S B o
LAYOUT & BILL OF MATERIALS JP1 [ =] &
PWR] SIG [COM 3
Lof [r I
FCOHT
Uil Jcom] Range: 125 psi
HwW Unidirectional % wE .
FWDIP | Output: 4-20mA o8|=a g o
=2|<5§ A
= 3w
26|< 2L o
ZOo|(wW? | w
omhl22Z™
N|=-35
O w2 |w
=
. J

J




" =
TCP-WTR1 L Zsz
Device Qty Part Number Description Vendor £ 593
Z  g3%e
Panel = ggg‘
CHW 1 MNL-20RS3 MN 200 CONT. WITH LONMARK ROOF  INVENSYS BLDG SYSTEMS g gsb
HW 1 MNL-20RS3 MN 200 CONT. WITH LONMARK ROOF  INVENSYS BLDG SYSTEMS T 233,
PS-1 1 PSM24A24DAS 24VAC/24VDC POWER SUPPLY,300MA  FUNCTIONAL DEVICES = 25
TCP-WTR1 1 A-20N16ALP 20"x16"X 6" NEMA1 ENCLOSURE HOFFMAN 8F5E
TCP-WTR1_1 1 A-20N16MP 20"x16" BACKPLATE HOFFMAN Py
TX-1 1 T-201-1 TRANSFORMER 50 VA, 120V-P, 24V SINGLE SOURCED SOLUTIONS 2E5
352
555
283
@ as
= Fa%
o~
=3
P
©|=
(=} (=]
(]
=
R=]
0
HW 15VA =
) UlL 24H H BLU— SWHT &
DPT-LHWDIffP ") 15 | 250 251G G BRN 120 VAC
. U2 GND - s 2L @
- uI3 NO1 B
A2 c2 e
COM NO2 &g
AO1L C3 SlE
DI2 NO3
COM [ FRIRKK
DIL NOA LOW VOLTAGE
S-LK C5 WIRING
Sk o TCP-WTR1 PANEL
From: FC-4
LON NO6 TCP LOCATED IN STORAGE ROOM 108
To:CHW | Neuron id: None NEAR THE UTILITY VISION PANEL c
o] <o}
£ o
[ppteieeebebbebebbebebbubog b I L L h~] =
. —l 120 VAC POWER a o
K HW N N o -(b_
H {GND] G ; o~
. .
+ =] 8
CHW 15VA ( coo &=
UIL 24H H = | vensys S0 o ouw
2 i 250
DPT-2ChwbifP “ T 1513 246 G = ESSTo W
- (421 et
WTS-3:ChwsT 2 GND = : MNL-200 : gys000
WTS-4:ChwrT oM Cl : : oy © @
e NOL : CHW : 5o <
AO2 C2 : : S ooD
COM NO2 ' ° ' ZZm0
AO1 C3 . .
DI2 NO3 : ( oo ' Sou
COM C4 : Vensys ' __5g_o_o
DI1 NO4 . . Hos [ o]
S1K c5 : : 288850
S1K NO5 : MNL-200 : ZECED2H
LON C6 : : Go2E® ‘E @
From: HW : PS-1 - : £ o0 Lol
LON NO6 + | ocPower suppLY I ' WO OWwO
To:FC5 | Neuron id: None E H E
H H
s s =
. . w |
' ' T 3| w
: . ~ = ol Z
: FUSE : D R
D cecccccccccsd .g) = S|
2 I g
© oz =
TCP-WTR1 I = G| I
T ®
A-20N16ALP 8 L og Q
. n " n (=] Q o
NEMA-1: 20"H x 16"W X 6"D S 9 g 2
< O
o| I
o
o o
Ll L @ y
AR EE
] £ Z =
=3|< 3
ZilHw
= G = | W O
ZOo|lw? |w
m Elas T o0
N|— 3
O w2 lw
=
\_ J

=

J




UTILITY VISION

Utility Vision i 5
Device Qty Part Number Description Vendor '.. g%f
LAYOUT FOR
BTUMETER 2 SYSTEM-10-LON BTU METER WITH LON INTERFACE ONICON T -Eg g-g
CANADA BLDG 17 BTUMETER_1 2 F-1200 DUAL TURBINE INSERT FLOW METER ONICON [y %ga‘i
Eoefiz
Panel = Eig%
ENFLEX 1 G-100 CONTROL SERVER ENFLEX = § égﬁ
SLTA-10 1 ECH-73351 SLTA-10 TO FT-10 SERIAL LONTAL SINGLE SOURCED SOLUTIONS e g §g E
SLTA-10_1 1 ECH-73380 SLTA-10 TO NULL MODEM CABLE. SINGLE SOURCED SOLUTIONS . gg'g H
£oes’
:F
NOTE: \ )
The System-10-LON BTU Meter is sold complete with )
MODBUS temperature sensors and standard thermowells.
RS485 Network Flow Meters are purchased separately.
e
0 #g‘? g 5
i N v A
G-100 A
. CONTROL SERVER 1 Veris Enercept
] Electric Meter @
PROVIDED BY 3
DIV. 16 z
o
g
E
g
go
ETHERNET a
B4 ENFLEX W
ENFLEX CORP FHRK
Prescott, AZ 86305 USA
3
wr
E 3
B o
9 &
s o
(o2}
£a S
S udd
D = = =
SLTA-10 Eguoaam
Tvr =000
NETWORK natburen [ T—— oy
ADAPTER o8 S E <
000D
Z=2m0
RNy
FERN e e ]
2 o0p 027
2 omer [ R i R
o N ES5E 223
625852
WO ODO
t_
o 2
o 9 9
~ =2 3
— m o Q:
o = |2
T F ¢z
=
S & 0|92
{0 L
— S 5 3| >
| S § 2|E
| =2 | HW Output | c | CHW Output § B =
= BTU Meter = BTU Meter g E
; 3 )
= . \= .
5 b lwsls
) =
i ng|z!|8e
P8 mmeceemacean HW Supply Temp 11 cecccscceeee CHW Supply Temp % = "Z( oS- I
; HW Return Temp LR CHW Return Temp Z3|w I 2
R oR|Z2E|T
Flow Meter Flow Meter O i A= 73]
]
- J

~N
J




\ "R Iy [J]S 51 ALBCQUIDD . - )

R opeq 9 pOH03UD | TINYA NOISIA ALIILN | ox 19ams

B Sl G st S 102 Y seq kg aiemyog

. ; 900Z/92/60 °ed  v,ad :Aqpeublsad [  190v6 VO ‘AID poompoy psn uosiA Ay

.r.r..___.h.r..__wL._:._r_ ...."_n_. JPPIRLA) _“_ i Hm____z_—_ Q m O [ IME ploga! . M—2<Z m#-m
e T SISPING 48 1010ERUD PAIg INH WJed 022y _

% pp——" UBLLPOOAA PUE USYOEINON  I9suIBug 06009012
R = we( g ||ION 199U .| Bpig epeue) Y3EWNN 8Or
( )

UTILITY VISION PANEL
- MOUNT PANEL IN 15T FLOOR
STORAGE ROOM 108 -
PANEL SIZE: 18"H x 12"W x 6"D

o ¢ ¢ emms ¢ ¢ eammm ¢ ¢ ammm ¢ ¢ o=

J5
EIA-232
Data Port

ENFLEX CORP
Prescott, AZ 86305 USA

R4 ENFLEX

ad
L
>
g
LL
n
-
@)
a4
—
Z
@)
@)

SLTA-10 NETWORK ADAPTER

e T . - —

® @ Ts1

e @ =@

I 120VAC

@
@
@
@
+ @
)
@
@
@
@
@
® @ 's2

1
2
3
10

<
<

Canada College
Building 17 UV Panel

Power
RS485 Network
From Veris
Enercept Meter
LON Network From
Onicon BTU Meter




	Table of Contents.pdf
	Page-1�

	Bill of Materials.pdf
	BOM�

	Cañada Bldg 17 SOP.pdf
	FAN SYSTEMS�

	Cañada Bldg 17 Riser.pdf
	RISER�

	Fan Coil Units.pdf
	FCU CONTROL DIAGRAM�
	TCP-MECH1,2�

	MISC. SYSTEMS.pdf
	SPLIT SYSTEM�

	Water Systems.pdf
	HW & CHW�
	TCP-WTR�

	Utility Vision.pdf
	UV LAYOUT�
	UV PANEL�


